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SYLLABUS AND SAMPLE QUESTION PARER

Lot A = {1,2.3, 4) and R bo a rolation in A given by
= (1.1). (2.2), (3, 3). (1. 2), 3, 1), (4, 3), (2. 1). (1. 3) Thon R is

(@) reflexive (b) symmetric
(©) trensitive (d) both roflexive & transitive

2. Lot f iR~ R such that f(0)=- 5. xe R. Thea fis
e

(@) injective (b) surjective () bijective. - (d) none of these

3. Tho range of the function f(x)="""P, 5 is [Q B

(@) (1.2,3) ®) 1.2.3.4.5.0) (0 (1.2.3,4) @, 3)

4 Let A and B be two sets. Thon (AUB)'U(A'AB) s oqual to
() A ) A © B () none of these

5. Tho distance between the linos 3x + 4y = 9 and " 6x + By + 15 = 0 Is

>

33 3
o 3 @ (d) mone of these




[image: image2.jpg]6. 1 CosA + CosB + 20sC =2, Thon side of the VaBC are in-
(@ AP ) 6P © 1P (@) None of these
T Thosmueton iy BXch Ay § =0 meprsseas
(@) a polt (b) a pair of straight lines
(c) a circle of non7ero radius @ ‘none of these
3 The points (4 1) (5. 10). (6. 9) are
(a) ‘vedtices of an equilateral riangle (1) collinear
(@) eoncyelic (@) none of these
2. Tho vertex of the pansbola (y —9f = da(x + 3
) o) (®) (o -2 (© (-20.20)
10
10, 1 A={1 1 1| then in which option is true.
111 S
@ A=9A ) A (0, ArAmAZ L (D), A doss nat exial,
+b?
1, A the HM. betwoen a and bif n 18
b
'
© 0 © 5 © @1
12, The value of cosec10° - 3sect0® is cqual to:
1
© 3 ®2 © 4 @8
13, 1f cos 20° — sin 20" = p then cos 40° is equal o:
@ -py2-p ® py2-p © p+22-p' (@) nono of these
75, The valuo of cos 9" - sin 9" is equal to:

5445
® ©
® = )

(@) none of these




[image: image3.jpg]15. 10 a group of boys, the no. of amangements of 4 boys is 12 timos the no, of errangements of 2 boys,
The no. of boys in a group is

(a) 10 (UK (© 6 (d) none of these

16. Findr, if 5%, =6%p,

@ 4 b) 5 ()2 3

| oy

| 17.  Evaluate. ygllx‘Tl‘ 15 oqual to

|

| 2 3 s s
W 3 o7 © 3 © 3

18, In a single cast with two dico the odds against drawing 7 is;
w ¥ iyl © 5:1 15
6 12 -

19, 10 apples are distributed at random among 6 porsons. Tho probability that at least one of them
will receive none is

s e,

137
5 (0} 56, ©

(0} T

(d) none of these

20, Which of the following comes out next in the serics below?

JAZ. LEX. NIV, POT, 2
(a) QUR (b) RSR (9) RUS (@) SUR

L L@ 4w sm LW 2@ 6
10. (b) 11. (a) 12, (c) 13. (b) 14. (c) 15. (c) 16. (d)
18. (¢) 19. () 20. (c)

(]





